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QUESTION 1

What is one difference between how a network administrator can monitor clients in the Mobility (MM) interface and in
the Airwave Management Platform?

A. AirWave shows trends for the past several minutes, while MM shows longer trends.

B. Airwave combines information from more sources, such as RADIUS authenticating servers and APs.
C. AirWave shows the current signal level for the client connection, while MM does not show RF statistics.
D. MM shows user and role information associated with clients, while AirwWave does not.

Correct Answer: B

QUESTION 2

A company has an Aruba Mobility Master (MM)-based solution. Under which circumstance will an AP radio change
channel without the use of the Mobility Master (MM)?

A. when the MM detects that a different channel has significantly better quality

B. when the Mobility Controller (MC) detects a rogue AP on the channel

C. when the AP detects a large amount of interference on its channel

D. when the Client Match rules indicate that nearby clients do not support the current channel

Correct Answer: C

QUESTION 3

A company plans to deploy a Mobility Master (MM). The MM will manage 50 Mobility Controller (MC)
appliances that will control a total of 680 APs, and 10 Virtual Mobility Controllers (VMCs) that will control a
total of 160 APs.

How many MM licenses does the company require?

A. 60

B. 210

C. 900

D. 960

Correct Answer: C

Starting with ArubaOS 8.0.1, the MM license is required to terminate devices (controllers or APs) on Mobility Master. If
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the Mobility Master does not have sufficient MM licenses and an AP fails to obtain a license, that AP can get an IP
address and connect to its controller, but will not broadcast an SSID.

QUESTION 4

A network administrator examines a list of 2.4GHz clients with low performance in the Mobility Master (MM) dashboard.
Which property for a client should pose a concern as a potential performance issue?

A. Radio PHY of HT 20MHz
B. Max speed of 72Mbps
C. SNR of 18

D. Usage of 10 MB

Correct Answer: C

QUESTION 5

A network manager wants to implement an Aruba wireless solution that accommodates 802.1X with EAPTLS. All
wireless users will utilize Active Directory (AD) accounts to authenticate. Which device will the authenticator forward the
authentication requests to in this type of solution?

A. APs

B. RADIUS server

C. Mobility Controller (MC)

D. Mobility Master (MM)

Correct Answer: B
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